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] 10,600,000 100.00% 10,600,000 | 100.00% o 0.00%
SEE3A 10,600,000 100.00% 10,600,000( 100.00% 0 0.00%
JIEFEE 3 10,600,000 100.00% 10,600,000( 100.00% 0 0.00%
SEIpH S 1,941,000 18.31% 1,910,000 18.02% 31,000  1.62%
E=EdII=SSEA 1,903,000 17.95% 1,903,000 17.95% 0 0.00%
HASFRUFAHNHEIIZE 782,000 7.38% 782,000 7.38% 0 0.00%
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ZOIASTIR UM E D) 1,445,000  13.63% 1,445,000 13.63% o 0.00%
3523
ZII0IEEZAAHE AL 477,000 4.50% 477,000 4.50% 0 0.00%
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SSANAZEASEEA 2,500,000 23.58% 2,531,000 23.88% A31,000 [ A1.22%
X==ALSSE 2 A 1,432,000 13.51% 1,432,000 13.51% 0 0.00%
JIBAIEEE 3 120,000 1.13% 120,000 1.13% 0 0.00%




